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= 488,890
< 124,186
Al 35,787,031
Re SAEE 24 24,802,779 24,926,509 A 123,730
= 482,880
< 120,576
Al 24,199,323
HIIS2Hdel 22l - 2= 118,433 44,185 74,248
201 et 26,120 26,120 0
01 At 22l 26,120 26,120 0
O L=t 26,120
o HIIZ2 BEX AdDZES M
1,000& = 50000 = 48 2,000
o Adllol 2K S Mz 222 M
1,000& = 2,0000H = 13 2,000
o HIIS ¥Xel 28 88 =9 A
80,000& = 7 + 23 1,120
o MHE HIIS 2 N=FZE MA
1,000& = 50000 = 28 1,000
o ZEX REHAEIEIIZS XMl
20,000,000& = 14 20,000
202 Odl 4,600 4,600 0
01 = LH 4 Hi 4,600 4,600 0
O HIISHE Nelga, 3E - 3F - Al - 2
SsH= 85, OOO% * 28 x 29 » 33 1,020
O HJi=s2eld HEWs & 25 MoIL A
85,0003 * 2% x 32 * 23| 1,020
O 38X RHEIIHIIS LM A
20,0003 = 298 = 2 « 83| 640
O sdolE ¥ A¢ AXZ A
20,0003 * 29 = 49 » 123 1,920
301 LAz 87,338 13,465 73,873
12 JIEHE4 = 87,338 13,465 73,873
O 2019¢ A&0Iloh M= 87,338
o S¥RE X3 2 SEFIY)
13,465,000& * 14 13,465
o QAME G 61,873,000& = 14 61,873
o QUZU (&) 4,000,000& * 3% * 13 12,000
305 HHal=s 375 0 375
01 Hia=S 375 0 375
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O sdYyx N0 S AlH 2a2
75,000 = 5A 375
=dI0lE Mel K& 485,760 403,200 82,560
= 242,880
= 48,576
Al 194,304
402 BI2H X 20| M 485,760 403,200 82,560
=2 242,880
= 48,576
Al 194,304
03 QI 2H2| B A HI 485,760 403,200 82,560
O =d0lE Heal XEAY
3,360,000& * 123= 413,280
=2 206,640
&< 41,328
Al 165,312
O FHAHS NE2MSE ALY
3,020,0008 » 24= 72,480
= 36,240
& 7,248
Al 28,992
MEHIZS =& - 2 L JEHEA 22,581,730 23,557,210 N 975,480
202 o4 | 3,255 2,925 330
01 2L I 3,255 2,925 330
O AJMAR HAAME AE=EHA
20,000& * 39 * 32 x 128 2,160
O HAdy H&X #HIX0HY
85,000& * 3% x 3¢ 765
O 8XHIIZES Ml &4 20,0008 * 83l 160
O dSTH ol otd = 85,0008 = 23] 170
301 et A= 16,200 16,200 0
12 J|EtE2 A= 16,200 16,200 0
O SABRIBE BAUBAS ST IS =
=3 00,000 = 27 32 * 23] 16,200
308 MXISHMSOIA 21,786,275 22,749,885 A 963,610
10 B 2SN USHAE AN E A 21,786,275 22,749,885 A 963,610
O HAUBAY 9IS SY(MBHIIS +3
28t 2 JI2EA-HA 21,786,275
21,786,275,000& = 14
403 XX SHHS K20 & 776,000 787,000 A 11,000
02 BI2SHUSX2EAEAISHI 776,000 787,000 A 11,000
O BAWBAMY SIS SY(MEHIIS £7 -
28t U JI2EA-XE) 776,000,000 * 14l 776,000
2 MHAMAHX H2 480,000 0 480,000
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Al 168,000
02 B 2SOICHSH 2R 2 &AM I 480,000 0 480,000
O oA 2 240,000,000& = 204 480,000
= 240,000
< 72,000
Al 168,000
OFS02 o= JtRI| 32 &3 20,900 20,900 0
201 Let24d] 16,300 16,300 0
01 At 22l 16,300 16,300 0
O e+t 16,300
o FZEs 83 7+ 10,100
- PPECH 300& = 19,0000H 5,700
- & A 3,000& = 800 2,400
- & & 2,500& = 40EF » 123 1,200
- oM 4,000& * 200 800
o FZEs LU 822 MH 6,200
- 8% 80,0003 * 20004 = 23] 3,200
- 28 dHX M= 1502 * 20,0000H 3,000
303 &3 4,600 4,600 0
01 ZAZ 4,600 4,600 0
O OISU2 H=ItRI| HEBES 2+ SHS
IAaZ 2,300,000& = 23| 4,600
HOISEZE2M 2 1,115,956 901,014 214,942
101 @124 dl 319,837 282,081 37,756
4 D12t ZE2XREES 319,837 282,081 37,756
O E8SJIZAME 319,837
o oyl
8,350 * 54Y x 4Al2t » 3L * 52= 281,362
o MEUD PELY
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o ANSIEEZ(HLEE, AHEEH)
7,200,000& = 14 7,200
o Isl 2,970
- X 20,000 = 54H « 23] 2,160
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201 LBH2EH| 66,014 50,690 15,324
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SA - FE - BI(EA) - NRAY - By 0l &t San DS
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o EYEI ZAItH 225 2L 3,950
- HHE el 150,000& * 187K 2,700
- SoO=elste 50,000& * 2504 1,250
o EYSI ANE ARME L FHH(HEE
) 150,000& * 1000H £ 15,000
o SEEIIZANA M2S, AFE WA
10,000& * 549 540
o HEHII= 3¢ Jt3E 8K MA
50& * 100,0000H 5,000
o HIISZEHNSE B2 SUAEANE
2 (M n) 77,000 123 924
o =HEJ| MEHE MEX Mags 2 oA
=2 1,000& * 100A 100
O Il=l 2,400
o EHED g&f(ss) 7Y
150,000 * 16¥ 2,400
02 =24l 8,000 7,500 500
O AIE&EHI KX 8,000
o ZAItolet |XI2el  5,000,000& * 14l 5,000
o EYEI| ZAItolet ol&dl
300,000& * 10002 3,000
206 = Hl 388,731 392,976 A4, 245
01 = HI 388,731 392,976 4,245
O MEHIIS S2H 5 MHA(OIHH) 284,715
o 2BtE 54 293 = 20,28304 = 12& 7,059
o dBtE 104 36& * 79,0000 = 123 34,128
o 2EtE 204 543 » 158,00004 = 122 102,384
o YBtE 504 118& = 75,00000 » 12& 106,200
o etE 1004 2083 * 14,0000 = 122 34,944
O HI)ISZEH S5 HMEA(HAE S5) 92,280
o TAE 102 36& = 15,0000 = 128 6,480
o THALE 204 55&  130,00004 = 12& 85,800
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10,0002 * 3000H 3,000
308 XXM SOIA 233,374 61,107
10 I 2 SOICHetE & X 2 E AL I 233,374 61,107
O SEHNSF & SAHEF HIIES AEIFH S
S AHZ I 233,374,000& = 14 233,374
401 Al HIZ 2018 105,000 105,000
01 A&l 105,000 105,000
O M@J 2YSI| At S (22 E0]
ZE) 7,000,000& = 15CH 105,000
e Eotu HEE 1,694,755 1,001,852
= 6,010
< 3,610
Al 1,685,135
SASF HJI= H™el 119,514 A 8,896
101 @14 Hl 18,024 18,024
04 JIZHHZ2XREES 18,024 18,024
O SASXHJl s & 18188 ML X
cFZ 18,024
o o=y 33,400 * 2 * 229 * 9F 13,227
o FX Y eixtaG
33,400 = 52 * 2% « 93 3,006
o MIBEZ4UHEE, SAXIIQYEEH)
1,791,000& * 14 1,791
201 LBt 53,400 A 26,920
01 At 22l 53,400 226,920
O BAERHII=E =5 ZRZS(AEH)H
= 43,800
o A4S (FA) 12,000
- 23 200& * 2,50000 = 2& * 123 12,000
o Hs. ISFHE(IE) 31,800
- 3¢ 30& = 200,00001 = 23l 12,000
- 54 30& = 130,00004 = 23] 7,800
- 104 30& = 10,00001 = 23l 600
- 604 30& * 60,0000 = 23] 3,600
- 1204 30& = 130,00001 = 23l 7,800
O SASF HI=SZE € 480 2017 82
= M 100& = 30,00001 = 23l 6,000
O SASF HI=SZE € 482 2017 &=
9 M 80,000& = 1000 = 23 1,600
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O 8427 HJE 2 =A8) ME (==
8 F) 10,000& = 5000 = 43| 2,000
202 O4dl 2,890 2,890 0
01 = LH 4 Hi 2,890 2,890 0
O SAESF HII=2 U =8us T4
85,000& = 2 * 2& * 43 1,360
O SAE% HJI=2 SEM a0l THE RFIdE
X BXI0r2 85,0003 x 28 x 3 x 33| 1,530
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
O Sae=A87(120¢ ) HEE 7
50,0003 = 4004 2,000
307 21201 A 43,200 43,200 0
05 BIZHRI & 3 43,200 43,200 0
O =8 SASFHIS SU+=HEI ME
1,200& = 1,50000 = 23| 43,200
SSTY AL 60,000 0 60,000
401 AIEHI L 20 60,000 0 60,000
01 A& HI 60,000 0 60,000
O B8 SAE MY I REAAMAAL(RFI
D) AIEHALY 2,000,000 = 30CH 60,000
Heeg 2cl+=H 414,650 61,330 353,320
201 Let2d] 57,840 32,700 25,140
01 At 22l 33,840 32,340 1,500
O g+t 18,840
o MHWEES 2cltis 28 82X MA
120& = 5,0000H 600
o Z=0l 2B8 B4 M
80,000& = 6IH A * 33 1,440
o SHE 2ol 2283 A
10,000& * 1,500H 15,000
o STAXS(SE N, 4H) HaEss8 =
XS () 150,000& = 200 63l 1,800
O gxz 15,000
o SHNXG (AL HE, =) WEESE =1
e Xt 5,000,000& = 33| 15,000
02 2324l 24,000 360 23,640
O AM&EHIS X 24,000
o oZXs MEE =H NEI| HX22
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O MegE3 =el=A i X &2
85,000 * 29 x 32 * 33| 1,530
O EAMNS HEEE3 =A
50,000& = 3% = 123/ 1,800
206 M= Hl 2,500 7,300 A 4,800
01 M= 4l 2,500 7,300 A 4,800
O HgZs 2el=Hg 7¢
100,000& * 20K 2,000
O 22T 28 HLEE 7Y
2503 » 2,000& 500
301 gt d= 33,980 18,000 15,980
09 SALAHIEAS 13,480 2,500 10,980
O TANXS THEES =122 HHEY
50,000& = 5% = 102l 2,500
O SHE M8 IA dd=S <8 MOILE &
A B 900,0008! * 14! 900
O SHE =2cItiE 88 IAM =¢
70,0008 * 6H * 2& » 123 10,080
12 JIEBHE4 = 20,500 15,500 5,000
O MegsS(HAEX, So0lz)2xH U3
PSR 7,500,000& = 23| 15,000
O B&EI 532 41 B43 1,000
o N2 @ F M1 ~FD58HA
50,000& = 20A 1,000
O &80/ DN X 7 (308)
15,0002 * 2004 3,000
O HAMX W& 28X 2
1,500& = 1,000A E 1,500
401 A& HIZ 201 Y] 317,000 0 317,000
01 A& HI 317,000 0 317,000
O NMeEE 2el==AHE 4
1,000,000 = 200H & 20,000
O edslls Mg =1 &I £X
24,000,000 = 87| 192,000
O Mg =1 ZelotA EX(F2UEH)
15,000,000& = 700 & 105,000
Hass 488 29 541,781 475,753 66,028
101 @144 Hl 483,111 421,443 61,668
04 JIZtHZ2XREES 483,111 421,443 61,668
O Mg 2= 483,111
o oFY 68,800& * 17 * 5& » 52 304,096
o =g 68,800& * 1798 = 52= 60,820
o Mg B 9,124,000& = 14 9,124
o Fanesy
68,8003 = 17 = 8 = 150% 14,036
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SA - BB B () - MM - BES Ol &t o San HmEET
o MIBEZUUEBEE, “AXIIQLAYEE)
36,000,000& * 14l 36,000
o EAZ 36,000,000& * 14 36,000
o I=Hl 5,355
- &AYs 100,000 * 17 1,700
- gEt=s 150,000& * 179 2,550
- etE st 50,000& = 179H 850
- 29 15,0008  17H 255
o Z=H| 4,000& = 17 * 5 * 52= 17,680
201 LB-2E| 55,920 51,560
01 At 2t 2l 35,920 41,560
O ger==&H| 10,720
o dEHE HY HS #Y S 10,720
- O=2EEZ 800& = 3,5000H 2,800
- HUR Uz 5,000& * 80 400
- 27 5,000& = 204 100
- BctA8 Y 8,000& * 80 640
- AMES 1,000,000& * 14 1,000
- MHESZ2 018 2L (S 23
500,000& * 54 2,500
- WESELdEE JHFzLE 22 (20L)
50,000& * 1004 500
- HEgEsded JIAHFLE FelA(20L)
150,000& * 24 300
- MHESBSHEE ey EH(Z30tH
1,000kg) 6,600& * 20004 1,320
- NWESEHEY 2el&Y PPEU (&0t
th 120kg) 800& = 1,000H 800
- WESEMEE LUYS 98 AUSS
2 (4H) 900& = 200clE = 23 360
O gx=z 25,200
o MEESS HER SE2 U HAYX
2,000,000& * 123 24,000
o MEBE HEx Z4)| el
50,0003 = 128 » 204 1,200
02 =24l 20,000 10,000
O AM&&EHIs Xl 20,000
o Mess 48 M4 ¥ FHIsX
0,000,000& = 14 20,000
206 M= Hl 2,750 2,750
01 =8l 2,750 2,750
O HEgzs 258 MAE F
150,000 * 504 750
O MESZS(PET, ¢, BE0|H) LXEFSSE ZF A
-+ 2,000& = 1,000kg 2,000




2 TADIED
M M2 §8F M (BZES/HIIE)

Sl RO HoD WEE (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
Hess 483 22 178,000 0 178,000

401 Al HI K 201 I 178,000 0 178,000
01 A& Bl 178,000 0 178,000
O MEgss 48 ZHIEX(AR) 178,000
o U= 131,000,000& * 14 131,000
o Z&EJI 47,000,000& * 14l 47,000
ST HEBES = 348,000 0 348,000
307 glz2tol & 348,000 0 348,000
05 RIZHRI & 3 348,000 0 348,000
O Zs=e WEES HEALER +) 9
500& = 58,000MICH = 12& 348,000
SZ HHlE =H24d=s 15,100 14,700 400
= 1,510
< 1,510
Al 12,080
301 gt d= 15,100 14,700 400
= 1,510
< 1,510
Al 12,080
12 JIEBHE4 = 15,100 14,700 400
O HHY = 242 X
15,100,000& * 14 15,100
= 1,510
< 1,510
Al 12,080
183128 MEAA 2,710 2,710 0
201 £B-2d| 1,350 1,350 0
01 At 22l 1,350 1,350 0
O et==&H| 1,350
o 1883 AEdM 228 8EHX MA
120& = 5,0000H 600
o 183183 AIERM e AEIAH E EEE
ZIAH HMH 200& = 2,0000H 400
o ZZJ|& 123 EE01J] 222 & £
AH ME 350& = 1,0000H 350
202 O4dl 1,360 1,360 0
01 = LH 4 HI 1,360 1,360 0
O 1288 AN Azt A
85,000& * 2 * 2& * 43 1,360
Ssdoty &5 A& 15,000 10,000 5,000
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< 2,100
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TAIEHI &R 15,000 10,000 5,000
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< 2,100
Al 8,400
01 A& HI 15,000 10,000 5,000
O 2019 =sHII= SSTotE =HE NFAE
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2 4,500
= 2,100
Al 8,400
MEHIIS MelJlEg &5 9,902,573 9,090,582 811,991
SAE HIIZ2 MelAE 29 9,328,390 8,101,060 1,227,330
201 2Bt | 15,589 17,489 A1,900
01 At 22/l 15,589 17,489 A 1,900
O gEt=&H| 10,589
o SASNUISANE SH =Z2ZA =2
122,100& * 43| 489
o FUXNZEAM 23l & FULHZ Nzl 2,100
- 8% 80,000& * 4Ji 4 * 53] 1,600
- 385 100,000& =+ 53l 500
o TAE HIIZS SEXMeAE & A= &
AL 228 SR M
2,000 * 2,0008 * 2& 8,000
O 2g+¢ 5,000
o TAEHIIE SEXM2AANE FUXA 2
M ogle #4 =% 100,000& * 10¥ » 53 5,000
202 044l 5,490 5,490 0
01 SLHOIYI 5,490 5,490 0
O EANgHIIES SEHMeAE SN &3
20,0003 = 29 = 4 x 123 1,920
O A2AE & S42 MelAld 88X A8
85,000% = 29 » 32 * 33 1,530
O SA=2 NESANE SH= =ZHA 23
85,000 * 1Y * 1A * 43 340
O HAFMUXS =& e 39 &4 (&2
2 3) 85,000& » 29 = 22 « 53| 1,700
301 et A= 63,130 53,672 9,458
09 &AL HI B &S 3,000 3,000 0
O HIISHMelAlE =Y = d8X As
50,000& = 30¥ = 2 « 13l 3,000
12 JIE 243 60,130 50,672 9,458
O HIISHMelAlE ZAEgs Adl 24 45,130
o QlAH] 74,800& * 2H * 5 x 46= 34,408
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o BE& 160,000& » 2% = 12& 3,840
O ZAgHII=S SEXMelAE 248 M
QIMEIE 5,000,000 = 301 = OF 15,000
307 21201 A 3,304,831 3,114,531 190,300
05 RIZt2IEt = 3,304,831 3,114,531 190,300
O SA2% HII2 HMelA&(810) 2¢
3,184,831,000& * 14 3,184,831
O ZAEHII= SEXMelAE H= A XMl
10,000,000& * 12& 120,000
308 XXM SOIA 5,329,790 4,576,348 753,442
10 B2 SUHUS3AHAE A 5,029,790 4,576,348 453,442
O EANgHIIZE SEHeAE 28 29
5,029,790,000& * 14 5,029,790
MOIIERES 300,000 0 300,000
O A2AE HII=S H2 RE=
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O EANgHIIZ2 SeHeAE ?8 29
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SOHE HIIS MelAEg 29 492,983 743,322 A 250,339
201 Let24E] 325,963 354,226 A 28,263
01 At 2t 2l 138,963 115,926 23,037
O e+l 110,463
o AANM CHOISA AA 242
5,000,000 * 242 10,000
o AANE WIRNEE Y 242
996,000 * 5 = 23] 9,960
o HEAIE ZITA =2
4,973,000 * 2044 9,946
o MHEAE =8 Xot=2ZAME FIIHA =
= 167,500& » 3K & = 54 * 43| 10,050
o HHEAIE =8 dix= EIIEM =2
579,810& = 2K & * 1A * 43 4,639
o Xot+(MBE4) HIIAA +48
267,400 * 1 « 13 268
o SHE HII=S MelAld 48X =2 &
g3l H=E 5,600
- 8% 80,000& * 44 * 53] 1,600
- BES 3,000& * 2005 = 53 3,000
- 39E3 200,000& = 53] 1,000
o SHEHIIZ2 MelAld 228 7
10,000,000& = 6004 = 13l 60,000
O 2xt 28,500
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02 B232ZH| 187,000 238,300 A 51,300
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o SOEHIIS 42ANE SAMY P82
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O o=l 26,500
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5,300,000& * 5002 26,500
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01 W Hl 45,240 45,240 0
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) 35,000,000 = 1Al 35,000
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O gxz 80,000
o HIIZ2 2 &4 It
3,750,000& = 2 23| 15,000
o HEg HII2 = 4 2X 40,000
- =4
500,000 = 200 * 2& = 100HA 20,000
- @ X 500,000& = 200 = 2 » 10002 20,000
o ZOIHEHE S5 FHHl &x 10,000
- =4I 500,000& * 100 * 13 5,000
- g= 500,000& = 10H2 = 13 5,000
o ZHOIDHEE SEW 28 49 Xt
3,750,000& = 2 * 23| 15,000
202 oddl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
O EAXY 2A0IHEE 2SI 4 & =0l
50,000& = 29 « 123 1,200
HE2AZHI (S AIOISH) (J1EHDIEL) 116,166 102,960 13,206
ol 2d | 36,887 23,964 12,923
ol 2AH| 36,887 23,964 12,923
101 @14 Hl 36,887 23,964 12,923
01 2= 7,700 7,479 221
O SYEI NeBH 5L22€(72)
2,786 * 3H » 31 7,700
03 RIHAZ 2 E =+ 29,187 16,485 12,702
O A2 Z= 13,564
o <L>AHZ
18,838& » 2H » 20AI2F = 12& » 150% 13,564
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HH: AH2AZH (S AIOIS D) (IIEH/DIEH

chel: oIz gyl (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O s5¢22x4 4,823
o MEsEHdged NERA
150,708 * 1% x 8¢ 1,206
o MYJ EYEI A
150,708 * 1% x 24 3,617
O Il=4| 6,000
o M| SEHED ¢ MHESsS d8E 22X
thE= 150,000 = 29 300
o sHEHIIZ2 HM2AIE DI I=H| 5,700
- &= 100,000 * 19Y¥ * 23| 3,800
- OtM 3G} 50,000& = 19Y « 23| 1,900
O MEHIIES 2YHE)| A& ¢ 2|
20,0008 « 1% = 10 = 12&€ 2,400
O M2 (HEZs, HAEX, s01H) 2=H
2HLH O B 20,000& = 1Y = 102 * 12& 2,400
Jleddl 79,279 78,996 283
Jl2 &4l 79,279 78,996 283
201 Bt 48,724 48,808 N84
01 AP 22| H| 33,761 33,540 221
O 2Bt=2H| S HH A 7,614,000 = 14 7,614
O 2] 26,147
o EN2YE SHH SUHHA
12,674,000& = 14 12,674
o ME . SAMS2 HISEYHEI 2A(SH
S EZ2Z4AH]) 13,473,000& = 14 13,473
02 =224 H| 14,963 15,268 A 305
O 2222 2 MHA SHHA
14,963,000 = 14 14,963
202 044l 26,355 25,988 367
01 2Ll 14,835 14,468 367
O BEA2E S HHA 14,835,000 * 14 14,835
02 EHNHI 11,520 11,520 0
O HI S22 AFgZE X&E b
160,000& * 3¥H * 128 5,760
O M. ZAEE HIIZ2 2YHED ANE S5
160,0008 = 2% * 12€ 3,840
O 1383 MEAHM NE S5
160,0008 = 1 * 12€ 1,920
203 € R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
O T AOIEtDH(21Y) 350,000& * 12& 4,200
HEES(ZAOISHI)(SHEES/HIIZE) 73,750 80,000 A6,250

HEHH XK= 73,750 80,000 A6,250
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S WEAHAHX = (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
HEHH X = 73,750 80,000 26,250
702 )1 SEEZS 73,750 80,000 26,250
0 II2d8E3 73,750 80,000 26,250

HHII2 SEMeANE =EXH)
73,750,000& = 14l 73,750






